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Example Candidate Responses — Paper 1

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge IGCSE / IGCSE (9-1) First
Language English 0500 / 0990, and to show how different levels of candidates’ performance (high, middle and low)
relate to the subject’s curriculum and assessment objectives. Some question types where the answer is clear from the
mark scheme, such as short answers and multiple choice, have therefore been omitted.

In this booklet candidate responses have been chosen from the November 2021 exam series to exemplify a range of
answers.

For each question, the response is annotated with a clear explanation of where and why marks were awarded or not
awarded. This is followed by examiner comments on how the answer could have been improved. In this way, it is
possible for you to understand what candidates have done to gain their marks and what they could do to improve their
answers. There is also a list of common mistakes candidates made in their answers for each question. Please also
refer to the November 2021 Examiner Report for further detail and guidance.

The questions and mark schemes used here are available to download from the School Support Hub. These files are:

0500 November 2021 Question Paper 12

0500 November 2021 Mark Scheme 12
0500 November 2021 Insert 12

Past exam resources and other teaching and learning resources are available on the School Support Hub:

www.cambridgeinternational.org/support



http://www.cambridgeinternational.org/support

Example Candidate Responses — Paper 1

How to use this booklet

This booklet goes through the paper one question at a time, showing you a high-, middle- and low-level response for
each question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in
the right-hand column are the examiner comments.

Example Candidate Response — high Examiner comments

Read Text A, The whirlwind engineering. history of the bicycle, in the insert and then answer
Questions 1(a)-1(e) on this question paper.

Question 1

(a) Give two examples of early types of bicycle, according to the text.

o ONOORLONOEIS e © | © The candidate efficiently
B e 8 I210'6 = xS y | dentifies two of the three early
, . S . types of bicycle listed at the start of
{b) Using your own words, éxplain what the text means by: the text.
(i) ‘curious transformations’ (lines 1 and 2): Mark for (a) = 1 out of 1

| UnOetnl OV Ornes . OF wa /QThe candidate's explanation

( )
Answers are by real candidates in exam conditions. Covssoesirassscsires 2] Examiner comments are \
These show you the types of answers for each level. alongside the answers. These
Discuss and analyse the answers with your learners in explain where and why marks

) were awarded. This helps you
/ to interpret the standard of
Cambridge exams so you can
help your learners to refine
their exam technique.

NS J

the classroom to improve their skills.

How the candidate could have improved their answer

¢ The candidate could have checked back through their responses to the higher mark part-questions, e.g. (d)(ii) — (f)
to ensure that someone who had not read the text would understand precisely and accurately the ideas included in
their answer.

¢ (f) The candidate could have looked for links between ideas to help organise their answer more efficiently as they
planned their route through their answer, to help them improve both the overall concision and to demonstrate an
overview.

This section explains how the candidate could
have improved each answer. This helps you to
interpret the standard of Cambridge exams and
helps your learners to refine their exam technique.

Common mistakes candidates made in this question

¢ Some candidates did not pay attention to the guidance offered in each task: they needed to take careful note of key
instructions such as paragraph references and the instruction to use their own words which are designed to help
them demonstrate their understanding.

¢ Candidates offered lengthy explanations and / or full sentences to parts (a) — (e). They needed to remember that
these questions are not assessed for writing and can be answered as if simply responding to the question orally.

Often candidates were not awarded Lists the common mistakes candidates made
marks because they misread or in answering each question. This will help your
misinterpreted the questions. learners to avoid these mistakes and give them

the best chance of achieving the available marks.




Example Candidate Responses — Paper 1

Question 1

Example Candidate Response — high Examiner comments

Read Text A, The whirlwind engineering history of the bicycle, in the insert and then answer
Questions 1(a)-1(e) on this question paper.

Question 1

(a) Give two examples of early types of bicycle, according to the text.

o ONOORUOONEIS a
. E)OY%V}QWS ............................................................................................ il

{b) Using your own words, éxplain what the text means by:

(i) ‘curious transformations’ (lines 1 and 2):

| UDu&mcan@sOr\mpmvemmﬁe

OO PO O PP R ST PROTOTPOTTON [2]
(ii) ‘carefully straddled’ (line 5):

CouMOUAW. O 0. AR £0F..... 0. 0P, @)

OF (it A998, SN EAL. 2

(c) Re-read paragraph 3 (‘Pedals were introduced ... nicknamé, “Boneshaker”.’). '

Give two reasons why people may not have wanted-to ride on the Velocipede.

- Sesigned. 6.0 AAROUS. HOCR. .. B
R NA/ U 410,03 = 0 o (I @(\Q‘fbg()\ndunm 2

(d) Re-read paragraphs 4 and'5 (‘Fast-forward ... a:design classic.’).

(i) Identify two main featurés.of the Penny-farthing that made it ook different from previous

bicycles.
+ 10V OO A0
C QS made ok &l e 2]

(i) Explain why the Safety Bicycle was very popular in the 1890s.

ﬁm&meg@mmn&%n%w
nad)..Q...dncin.. dive.” Meaing,. Sychiss...coud @

The candidate efficiently
identifies two of the three early
types of bicycle listed at the start of
the text.

Mark for (a) = 1 out of 1

e The candidate’s explanation
offers meanings of both ‘curious’
and ‘transformations’ as used in the
text.

Mark for (b)(i) = 2 out of 2

@) The candidate provides
meanings for both ‘carefully’ and
‘straddled’ and clearly and precisely
explains this in their answer.

Mark for (b)(ii) = 2 out of 2

o The candidate considers both
explicit and implicit ideas in the
third paragraph to offer two distinct
reasons why people might not have
wanted to ride on the Velocipede.

Mark for (c) = 2 out of 2

e The candidate makes good use
of the bullets here to clearly and
efficiently identify two features of
the Penny-farthing that made it look
different from previous bicycles.

Mark for (d)(i) = 2 out of 2

(@ The candidate identifies two
relevant points in relation to the
chain drive and to the bicycle
being perceived as safe, but is not
awarded full marks.

Mark for (d)(ii) = 2 out of 3




Example Candidate Responses — Paper 1

Example Candidate Response - high, continued

(e). Re-read.paragraphs 6 -and:7 ({So'who nééds..... two-wheeled favourite.’)..

Using your own words, explain why you think the bicycle was voted the most sighifibant
‘innovation in technology.

Th6....0. A0k QneapRc... naw). othee. Augpes.... ... 7
AONEPOFE. A D06 PO AL A2 .. G ..

NRACALONE. RELOX.. B, . \VY\Q‘QNM% pzogmg
NQLATN .

Read Text B, Finding my feet again, in the insert and answer Question 1(f) on this question
paper.

Question 1

(f) According to Text B, what particular challenges has Denise faced as an elite-level cyclist?
You must use continuous writing (not note form) and use your own words as far as possible.
Your summary should not be more than 120 words.

Up to 10 marks are available for the content of your answer and up to 5 marks for the
quality of your writing.
V2B Moo 0. wome. 0. USe.. 0. Ko, (09....
A 20000 POURBCEN. .. OQCTRB
LB eos. 0. YO0 WAL
3.7 ot ok demonding. OB\ I .. darggrousy
H 20000 50, Fo2) OROTNE N
S n Hﬂfﬁhtﬁm ..... CONRRONA V.

B.. ooy Rocds.. o il o
Oi.......:.p%‘éx JAL. QN NN m_gﬁ__d_ W DA
%2 \OY%M&%)CQ%\/ .................................................................
G Srugghect... ..o sadiagg - indopendeintiuyy”

IS TE =6’ o /e e UNNTS S nut L R
L iowag. & e e Re... N e
4. ~ Yod A0, ’%m@& &A

Hﬁ)@&\\&*{&)ﬂ%
£O008),.. & A \r. 2% Yoem.. Ao
P“@@mx mmoxa Qmai‘ W emy...

M2 S0 0040, WS, ez 9. O, ©
%m\emam@%mm@ .....

Examiner comments

@ The candidate offers two
relevant points: comparative cost
to other forms of transport and
perceived health benefits. However,
the implied point in relation to
nuclear power is not understood.

Mark for (e) = 2 out of 3

e The candidate plans the ideas
they intend to use beforehand,
which allows them to identify a
potentially wide range of relevant
ideas.

© The opening lines of the
candidate’s answer make just one
relevant point: that Denise faced

physical setbacks.
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Example Candidate Response - high, continued Examiner comments

@QOA\CX QNG b@gm...doﬂ%@ 5 @ The candidate touches on
1’15 m points 5 and 11 in their answer, but

they miss the opportunity to link

PONBICOY--aCMAVA
TIQ. OGN, MBI CNAADNS. ... AN, §

*Q,Q)r\odé 2k O\\m‘o\\/\% ANz, O, Q{W\CLMT them together for concision.
Ona. 2. Q... oG M@M ..... AFAANALS.. WQS @@ The text presents the long
P\Y\CXM\.@ Ao\ AD.. Yo V‘QlDJ(JIZN\@@(\&— ..... Q4. periods of climbing as a particular

challenge during the prestigious

MQMQ@W@%{‘WW%T‘(\@ ............... mountain tour only. Similarly, the
WINGG... PIDRES.. wIOE N NG, AN 05 @ changeable nature of the weather
OS2 o.M 56\0&292 U )M)(Y\CMO\ during the tour is another aspect of

W n% that same challenge according to
AN eF..Deah.a.., \mmudm@ el ...

the text. Here, the candidate’s
W\Y& A0 AT. A0S YYD fox. \/\.Q)("O @ answer only refers generally to

e CoATOAC k02, DD AURIOLIFY, X6 A ‘harsh weather conditions’. By
NN . N making no reference to the context

W%WQM@\’WNY\%WM‘M@( of the tour, the candidate incorrectly

ng@&&%wmumm%ﬂ&wm} suggests that these are day-to-day

mﬁﬁmwmm%m%mm%, challenges for Denise.

(14) @ The candidate does not
communicate potentially relevant
ideas here clearly or fully.

The end of the candidate’s
answer is well focused and concise,
with five relevant ideas in just these
last few lines.

Overall, the candidate’s answer
is mostly focused and offers
evidence of understanding of a
good range of relevant ideas. They
use their own words and there is
some concision.

Mark for (f) = 12 out of 15
Reading Level 4
Writing Level 3

Total mark awarded = 25 out of 30

How the candidate could have improved their answer

¢ The candidate could have checked back through their responses to the higher mark part questions, e.g. (d)(ii) —
(f) to ensure that someone who had not read the text before would understand precisely and accurately the ideas
included in their answer.

* (f) The candidate could have looked for links between ideas to help organise their answer more efficiently as they
planned their route through their answer, to help them improve both the overall concision and to demonstrate an
overview.
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Example Candidate Response — middle Examiner comments

Read Text A, The whirlwind engineering history of the bicycle, in the insert and then answer
Questions 1(a)~1(e) on this question paper.

' Ques;tion 1

(a) Give two examples of early types of bicycle, according to the text.

. Lou€masching. . Counnng.;achine............ Q..

o NVEIOCAPRAR. e 1]
(b) Using your own words, explain what the text means by:

(i) ‘curious transformations’ (lines 1 and 2):

“Thetext \s. descrising. the Inventors... fascinaks one
Gnd.int0goe.for. Creating. oo, forms. of lolcyCleS ... (2

(ii) ‘carefully straddled’ (line 5):

.8afely. Placed. the wooden. franee Croame... €
rengegaerestesrseneinran e SRR et [T [2]
(c) Re-read paragraph 3 (‘Pedals were introduced ... nickname, “Bqneshaker"‘.’)A

" Give two reasons why peoplé may not have wanted to ridé on the Velocipede. '
. .heeswere oadentonned @
o5 Used t0.01de. a1o0G AL ECOCRS. ...t 2]

(d) Re-read paragraphs 4 and 5 (‘Fé't'st-'fbnNard' ... a.design classic.”).

(i) Identify two main features of the Penny-farthing that made it look differént from previous

bicycles. .
(5

. ..Huge (neel. 1n thefronk. and small:in.the back .

(i) Explain why the Safety Bicycle was very popular in the 1890s.

.$Q(~.‘.e_f,.Q;l.bexmuue...to..t;h.a.obher..-lataea...bxc;g,.c.\ﬁs,..,..e
Whach avewed. the ndec ko, SIE N Ehe. Contle of

fek\..e.ﬁmm.e.s.....m.ag..mn.geemgc.(mte....“n.e.lg.h.t;...ﬁc)c..ﬂ.de~ 3]
-0S b0 FecCh Ehe groond -

a The candidate reads on further
into the text than they need to,

in order to identify two examples

of early types of bicycle. These
alternative names for Stridewalkers
and Velocipedes from later in the
text can be awarded the mark.

Mark for (a) = 1 out of 1

e The candidate’s answer
demonstrates sufficient
understanding of the meaning

of ‘curious’ (intriguing) and of
‘transformations’ (as the creation of
new forms of bicycle) and they are
awarded both marks.

Mark for (b)(i) = 2 out of 2

@) The candidate does not
understand the meaning of the
phrase.

Mark for (b)(ii) = 0 out of 2

@ The candidate identifies two
relevant reasons why people may
not have wanted to ride on the
Velocipede.

Mark for (c) = 2 out of 2

@ The candidate identifies two
features of the Penny-farthing

that made it look different from
previous bicycles, using the bullets
in the response area to help them
organise their ideas.

Mark for (d)(i) = 2 out of 2
(@ The candidate’s explanation
correctly identifies three distinct

reasons for the Safety Bicycle’s
popularity in the 1890s.

Mark for (d)(ii) = 3 out of 3
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Example Candidate Response — middle, continued Examiner comments

(e) Re—read .paragraphis 6 and:7 (*So who:needs .... two-wheeled favourite:).

‘Using your own words, explain-why you think the bicycle was voted the most significan

innovation in technology. . :
This. s Jue. b0 \bs enuimamental.. benefies os S @ The candidate offers only

' Ehé ' decader ' one reason from paragraphs 6
ofposedt im...khe. ac, .and gwen how:.meny. A ecader and 7 of the text in the first part of
OGQUOIUUQY\thﬂb\KehwgonethﬂMghG\Ueﬂ ....... I8 their answer, losing focus on the

paragraphs after that.

how fong wthas been areund, bicycies haue the dPerhend.
Mark for (e) = 1 out of 3

10



Example Candidate Response — middle, continued

Example Candidate Responses — Paper 1

Examiner comments

U}

Read Text B, Finding my feet again, in the insert and answer Question 1(f) on this question
paper.

Question 1

According to Text B, what particular challenges has Denisé faced as an elite-level cyclist?
You must use continuous writing (not note form) and'use your own words as far as possible.
Your-summary should not be'more than-120 words.

Up to 10 marks are available for.the content of your answer and up to 5 marks for the
quality of your writing.

Ds.anehke. Cychst. ond o ..cl.ls.mo‘..c.A..(.A?.ngn....b.e.n.xs.e.........9
faccouced. sevecal. Challenges... To Stackof€, Denise.

Jnad o fhysical. diseduantoge. She. was.Constantly

Eold. £0..910e U Ehat 1t Was. ImRossile... ln.addition,

She.neegdne e, flacing hef...Loosthet(s... 189 0F®.
g Sustokle..Losiblon.. Moreovec, It EooR her. many.
bfgsonq!CQQChmgEz\l\ngoﬁPherbl&@wwm
GNREReC L INCONUNCNCE e

Asubople. dotes bilce Corc. Denise, wniSh....
She.and hel. facents.were...Concerned by Thig 12
INEVED,. almosk. discounagest. her as Sh.e....
dig nok enk v ke o fnanciol 18sue ko .
DRCLOCONTS teeeee S ®.

() The candidate covers the
physical effects of Denise’s
childhood accident in the first

line of their answer, but they then
repeat this information later in the
paragraph, leading to some excess.

Q The candidate’s answer touches
on relevant ideas related to other
people’s perceptions of Denise. For
example, the doubts that she could
be an elite cyclist and society’s
interpretation of physical perfection
according to the text.

@ The candidate demonstrates
some understanding of the particular
challenge of having to face ‘strong
fluctuations’ in the weather, although
their answer does not make it

clear that this was on one specific
occasion.

m The candidate’s answer works
through the text in chronological
order and as a result lists ideas
rather than linking them.

@ The candidate only offers
one point in the whole of this final
paragraph.

@ The candidate’s answer is
partially effective. They show some
evidence of a selection of relevant
ideas and understanding, although
they lose focus on occasion and
there is some excess. Their writing
is generally clear and the candidate
makes an attempt to use their own
words throughout.

Mark for (f) = 9 out of 15
Reading Level 3
Writing Level 2

Total mark awarded =
20 out of 30

1
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How the candidate could have improved their answer

(c) Trying to write in full sentences when not required to do so added unnecessarily to the challenge for this
candidate and, at times, potentially diluted their evidence of understanding. For example, in (c) if they had offered
the two separate ideas rather than attempting to link them in a sentence, this would have offered more secure
evidence of understanding.

(e) The candidate needed to pay attention to the guidance in individual questions to help them access higher
marks in the comprehension task. For example, in (e) they needed to base their answer wholly on the section of
text identified in the question.

(f) The candidate needed to plan a route through their answer beforehand, rather than relying on the order of ideas
as they occurred in the text, which could have helped them focus more, and would have offered a wider range of
relevant ideas within their response as a whole.

12



Example Candidate Response — low

Read Text A, The whiriwind engineering history of the bicycle, in the insert and then answer
Questions 1(a)~1(e) on this question paper

Question 1
(a) Give two examples of early types of bicycle, according to the text

. ahddevoclkers @
. RPooeghakeys.

......... : [1]

(b) Using your own words, explain what the text means by

(i) ‘cunious transformations’ (lines 1 and 2)

\¥ roeans ’rhq\* th (Gpes of Hieycles
Loere Wﬁh o f’s/a( }j 3%’(&%& 2l

The vohole %’C\rodcove wo% change c\ o 9
(ii) ‘carefully straddled’ (Iine 5)

C\e)c,\& UQ—‘( 3 COy D\\ cécon\ YD\\Q&.W\%« 2]
e\ Y was RIS qu thom vo
(‘Pedals were introduced . nickname, “ Iianes aker™ ) u.)\ 00‘—

peckals »
Give two reasons why people may not have wanted to nde on the Velocipede

(c) Reﬂead paragraph

A éﬁa\ggs \gpgcl {genable o pevsor @
S%Pec\q\% \re‘? Tradiucea laley - . 2l

(d) Re-read paragraphs 4 and 5 (‘Fast-forward . a design classic.”)

(i) Identify two main features of the Penny-farthing that made it look different from previous
bicycles

heneed| fovepeecio..... L (5

- watthopk aears e anly Q:QQ 3OCKe0se
toe icycle speel) voas to Tncrease the Size of wbeel.
(ii) Explain why the Safety Bicycle was very popular in the 1890s

%‘ecqoge, w?thq chaip. d\»‘fue Fhat allowed

&*;%1 %m\g RERAC LRSS RTRERS, @
Yhe sovae o h\cgc\eo 7

Example Candidate Responses — Paper 1

Examiner comments

a The candidate offers the first
two examples of early types of
bicycle from the text.

Mark for (a) = 1 out of 1

@ The candidate explains the
meaning of ‘transformations’,
however, they do not address the
word ‘curious’.

Mark for (b)(i) = 1 out of 2

@) The word ‘Straddled’ is used

in the text to refer to the action of
placing one leg either side of the
Stridewalker before pushing off with
the feet to set the wheels in motion.
The candidate does not understand
the precise meaning of ‘carefully
straddled’.

Mark for (b)(ii) = 0 out of 2

@ Rather than giving two reasons,
the candidate identifies from the text
some material that could be relevant
in an answer. The first bullet of their
answer shows they understand that
this explicit detail of design might
have been off-putting to potential
riders of the Velocipede. However,
in their second bullet, the candidate
does not show that they understand
that the Velocipede was the first
bicycle to have pedals.

Mark for (c) = 1 out of 2

e The candidate’s answer does
not address the question. The
question asks for ‘features of the
Penny-farthing’ that made it look
different from previous bicycles.

Mark for (d)(i) = 0 out of 2

@ Rather than using the text in the
explanation, the candidate's answer
relies on copying out a potentially
relevant selection. By doing so,

the candidate uses up all of their
response space without targeting all
three marks.

Mark for (d)(ii) = 2 out of 3

13
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Example Candidate Response - low, continued

Examiner comments

(e) Re-read paragraphs 6 and 7 (‘So who needs . two-wheeled favourite *).

Using your own words, explain why you think the bicycle was voted the most significant
Innovation in technology.

e YReucle voas Waeeh Sacst frcalec)..
Peconge No.neec) Cor nutleay Power - @

< -~
Yoong peoble \ave Tt Pacyyele becabse g
Of the gug (emaic Precess.“woheels ont
e\&-
Read Text B, Finding my feet again, in the insert and answer Question 1(f) on this question
paper
Question 1
(f) According to Text B, what particular challenges has Denise faced as an elite-level cyclist?
You must use continuous writing (not note form) and use your own words as far as possible

Your summary should not be more than 120 words.

Up to 10 marks are available for the content of your answer and up to § marks for the
quality of your writing.

Derfee boos hogicallu uoent ’shmugb
an accident A0, bey antidbood anc)..

POSSON. B/ ANE.. chrrrnea/REodle. .
cfe/ogisecanse of herlegs ~Some
2y o foroel ancot e hok it ons
0oL pesable. for her actoally » Jost.
e every sports menor seomen. . .
She uxas pessienale. ahoet s, o
BPOrLS ..8he LEDT throogh everyy.
Type ok commenis. by ihe people.
eTther hodl or aoadh .. @he. came. ©
toe fsaled people. arconct ner. @
e Derfse ooonled). ke Ceel frond
o bev sell bok fhe  seely o .
adrRetoes boag go 0ok, GoorEing
Ltor ber. 0g it voag (Rlec) bt T
. ..p&o@keﬂ.@‘v.\o...ﬁnmuaht Yook

@ The candidate does not
demonstrate any evidence of their
understanding of relevant ideas
from the text.

Mark for (e) = 0 out of 3

(@) The candidate’s limited
expression in the opening lines

of this answer affects their
communication of ideas. The copied
phrase from the text does not seem
to be understood by the candidate.

@) The candidate is tracking
through the text trying to reword the
material, but they lose sight of the
focus of the task (challenges).

@ The candidate’s answer is too
vague to evidence close reading of
any relevant ideas in the text and
may also suggest misreading since
Text B does not include reference to
‘good’ comments.

m The candidate shows some
understanding that their own words
are required, but this attempt to
reword line 9 of Text B shows no
evidence that they understand any
relevant ideas.

14
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Example Candidate Response - low, continued

Examiner comments

...............

Yoo T0 one. . womeel ueek, — She
completec) g crollenging. by ...
Gasme QOINC. Hovronaih. e, hardsnips
ghe. faceck 0 exlong Joorney s
For Denlge. A vons tretest experience
for hex . She. postd orec) Koe Cool. (14
AM\B Mre adlapledt £ pecieds g&cu&.\&
onc\ .%ﬁ.@&m\\ ? ’be. Yearned Noud
Yo. pestSened Pey fook L Tty \Bae. ®
He Yoot oy 3 She. vea\isec) herse\l
nkler trelelrg so many . cesionse
Qne.  La\\l. Crorn. o ke omel breke. ©
ey Feethe The adapled). ke make.
ey enttry, Decawse of P rah cost. @
She veas TR nonRal vostable. Funak "
process Pelped hey ro gdn Clxed).
Ner ke oiherufee chelost hopeo ®
Derfse Laced exery c*)ﬂ&\.\e,xr\&e of

........... e e @ [15]

[Total: 30]

@ This is the candidate’s first
clear idea in the response, that
attitudes to appearance presented a
challenge for Denise.

@ The candidate seems to
misread here. In Text B, the point
carries over from line 12 to 13,
explaining that Denise was the first
female paracyclist to complete the
tour.

@ The candidate is lifting phrases
from the text with limited focus on
the task.

@ The candidate suggests that
improvement being a slow process
and learning how to use her
prosthetic leg are both challenges
for Denise, although evidence of
the candidate’s understanding is not
secure.

@ Falling from her bike during
training sessions is presented as a
challenge for Denise, although there
is evidence of misreading here too.
The phrase ‘through gritted teeth’
describes Denise’s determination
and does not suggest that she broke
some teeth.

@ The candidate understands the
idea that the cost of the adapted
bike was worrying. However, the
implication in the text is that the
worry is due to the extremely high
cost of the bike which she would
not be able to meet by herself, and
not because Denise was financially
unstable.

@ There is no sense here that the
process of finding funding was a
challenge.

In the answer overall, the
candidate shows evidence of some
indiscriminate selection of ideas and
they misread some details. There
is some, limited, understanding of
the requirements of the task and the
answer lacks concision.

Mark for (f) = 4 out of 15
Reading Level 2
Writing Level1

Total mark awarded =9 out of 30
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How the candidate could have improved their answer

The candidate needed to pay attention to key words and command words, which would have reminded them of
the need to use or interpret key details of the text in their explanations to show understanding of both explicit and
implicit ideas.

(f) The candidate could have planned out the ideas they wanted to use in their response before writing, which
might have helped them produce a more focused and relevant response.

Common mistakes candidates made in this question

Some candidates did not pay attention to the guidance offered in each task: they needed to take careful note of key
instructions such as paragraph references and the instruction to use their own words which are designed to help
them demonstrate their understanding.

Candidates offered lengthy explanations and / or full sentences to parts (a) — (e). They needed to remember that
these questions are not assessed for writing and can be answered as if simply responding to the question orally.

Some candidates attempted to paraphrase or write a precis of the whole text: the selective summary task invites
candidates to focus specifically on certain ideas in the text, discounting material that is not relevant to answer the
question. Limited focus on the specific requirements of a selective summary task led to excess material in their
answers and affected evidence of both Reading and Writing skills.

(f) Candidates counted the exact number of words in their answer which was not an efficient use of their time.
The suggested word limit for (f) is designed to help remind candidates of the need for concision in a summary
task. Overlong answers should be avoided since they are likely to contain excess material such as repetition,

unnecessary details or comment. However, estimating rather than counting the number of words in an answer
would have been a more efficient use of their time.
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Question 2

Example Candidate Response — high Examiner comments

Read Text C, Moving on upwards, in the insert and then answer Questions 2(a)-2(d) on this
question paper.

Question 2

(a) Identify a.word or phrase from the text which suggests the same idea as the words
underlined:

(i) Sonny's phone is sparkling in the sunshine.

(i) The narrator expected his bike ride to.be a new: exciting experience.

Novel  advenhan{

(iii) The narrator considers his fiftieth birthday to be a significant stage in-his life;

A Mmieshnae

................................................................................................................................ 1]
(iv) Sonny plans to record the entire bicycle ride on his mobile phorneé.
LGApIAE e ol Rvenk et 1]

(b) Using your own words, explain what the writer means by'each of the words undeérlined:

Though | am keeping to the outside of the bend, | feel the tension in my thighs increasing in
a matter of metres. Ahead lies the notorious forest where many a dismayed cyclist is forced
to dismount after kilometres of hard labour.

(i) increasing W’fj\""““"‘\j' Mavkeins) sele kaown 9 »

(ii) notorious ..WH\,. known  dtspesretton & bod crpsrmaOn oo ]

(iii) dismayed .. AiSCoMr : O . [1

a The candidate’s answers

to each part of (a) clearly and
efficiently offer a word or phrase
from the text which suggest the
same idea as the words underlined.

Mark for (a)(i) = 1 out of 1

Mark for (a)(ii) = 1 out of 1
Mark for (a)(iii) = 1 out of 1
Mark for (a)(iv) = 1 out of 1

@ Al of the candidate’s three
explanations in (b) offer secure
evidence that they understand the
precise meaning of each word in
context.

Mark for (b)(i) = 1 out of 1
Mark for (b)(ii) = 1 out of 1
Mark for (b)(iii) = 1 out of 1
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Example Candidate Response - high, continued Examiner comments

(c) Use one example from the text below to explain how the writer suggests the father’s experiences
and feelings as he starts the sharp incline on the hill.

Use your own words in your explanation.

| can see my own contorted expression, looking out, gargoyle-like, over thé bike handlebars,
forming part of that ‘family entertainment’.

‘Dad, this is the forest, right?’
| nod and pant.
‘It'lt soon be ten per cent gradient, Dad.’

| change my gear, and my legs heave a sigh of rélief. ]
e The example that the candidate
Prove

Tt phross f ow egs ket o sl o relef] deprer Sugssk uses to explain how the writer
suggests the father’s experiences

P acknatioR d\&»enS\’\‘f}rM ond Yhe Pother’s  exhausion

.................................. : and feelings are clearly identified.
T e pesoniGes WS \gS a5 st o breadh’  fromy. ..
thr greviovs  befle . With e word | celire!. ik Z9938SK5.
e Caver SN\ veyming a 5eNSL of hope. in that he can. o The candidate offers three
make W ko B end . ‘Heave’ WaZ e brabsl connevaion g | distinctideas in relation to the
and folc ko Th only maling this Jowmey mart excruciohng - chosen example, offering a

comprehensive explanation of how
they suggest the father’s feelings
and experiences. They successfully
target all three available marks for
this question.

Mark for (c) = 3 out of 3
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Example Candidate Response - high, continued

Examiner comments

(d) ‘Re-read paragraphs 2.and12.

*  Paragraph 2 begins ‘Time for another ..." and is about the father trying to drink some water.

e »  Paragraph 12 begins ‘The steep road ...’ and is about the father’s feelings about the road
ahead.

Explain how the writer uses language to convey meaning and to create effect in these
paragraphs. Choose three examples of words or phrases from each. paragraph to support
your answer. Your choices should include the use of imagery.

Write about 200 to 300 words.

Up to 15 marks are available for the content of your answer.

. Remeproph g 0 werd L gutp]
and:

SNEs Y wyency

desprralion, He Eother hes G noakl: Unlike Sippiaga.

a,/vu'ch ace  wWikkin He givey o

Grollv £ ‘one  craciab

Hooks e coucial! signieies iTs  impoctenct e tha  fother
eeA
it S & “r»ewk Cor bhim. The wawr hos used this

HDrop! i3 4 meeerececendt o e Pober’s | st hepe end

=

e The candidate’s three choices
in each half of this answer are
clearly and precisely focused. They
do not consider how ‘another’ adds
to the effect of ‘gulp’ in this first
example, but they still show a clear
understanding of how the writer
uses ‘gulp’ to indicate the father's
dire need for water.

The candidate’s answer offers a
full explanation of how this example
works in context, with clear evidence
that they understand the effect.

@ The candidate begins with a
useful explanation of the meaning
of ‘crucial’ as it works within

the phrase and is beginning to
explain the image, showing some
understanding of effect.

(@) The candidate does not
explicitly explain how exactly the
word ‘drop’ is used in the context of
the passage to suggest the father's
last hope.
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Example Candidate Response - high, continued

s visualises te (oad  as  coarved = of

Swicled, Stmlldy | e cond i3 olSe FRER- ceferred v oS

AL megkiny | araven

ot only s W mad nenchelell) Link i 35 owhwardly teasiog

......

e Gaacs A¥ongh tha word 35 comitonly  espg—im—rep

Example Candidate Responses — Paper 1

Examiner comments

@ The candidate offers a clear
explanation of the effect of this
image.

@ The candidate clearly identifies
the meanings of some words within
this image.

@) To evidence clear
understanding of effect here, the
candidate needs to provide a more
precise explanation of those general
effects being touched on. For
example, they could explore how
the father is reacting and how / why
the word ‘mocking’ shows that. They
could also look at what ‘gravelly’
suggests about the physical aspect
of the road.

@ The candidate demonstrates
some understanding of how

this image works and gives an
explanation of the literal meaning of
‘tickling‘ as it is used in this context.

@ Judicious selection of examples
and some high quality comments
on how the writer is using language
in both parts of the text offer some
clear evidence that the candidate
understands how the language is
working.

Mark for (d) = 13 out of 15

Total mark awarded =
23 out of 25

How the candidate could have improved their answer

The candidate needed to explain the precise effect and / or meaning. They could have used bullets to separate out the
sections of their answer dealing with each choice which might have made it easier for the candidate to look back and
identify quickly where their explanation of meaning or effect might have gone further.
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Example Candidate Response — middle Examiner comments

Read Text C, Moving on upwards, in the insert and then answer Questions 2(a)-2(d) on this
question paper. -
Question 2

(a) Identify a word or phrase from the text which suggests the same idea as the words

underlined:

(i) Sonny’s phone is sparkling in the sunshine.

(iii) The narrator considers his fiftieth birthday to be a significant stage in his life.

(iv) Sonny plans to record the entire bicycle ride on his mobile phone.

(b) Using your own words, explain what the writer means by each of the words underlined:
Though | am keeping to the outside of the bend, | feel the tension in my thighs increasing in

a matter of metres. Ahead lies the notorious forest where many a dismayed cyclist is forced
to dismount after kilometres of hard labour.

(i) increasing W’CA, .......................................................................... e ......... 1]
' f LOE{Z\J’\% ............................................................... 1]

(iii) dismayed hr&dﬁ”ﬂnhm&d@d .......................................................... [11

(ii) notorious ...IMW WM

€ The candidate correctly
identifies the word from the text
which suggests that the phone is
‘sparkling in the sunshine’.

Mark for (a)(i) = 1 out of 1

e The candidate’s selection from
the text does not suggest the same
idea as the words underlined in the
question.

Mark for (a)(ii) = 0 out of 1

e The candidate correctly
identifies a phrase from the text
that suggests the birthday is a
‘significant stage in [the father’s]
life’.

Mark for (a)(iii) = 1 out of 1

o ‘Sonny capturing every second’
(line 21) is incorrect as it only
relates in the text to the first metres
of the father's journey through the
forest and does not suggest the
same ideas as ‘record[ing] the entire
bicycle ride’.

Mark for (a)(iv) = 0 out of 1

e The candidate’s answer to
(b)(i) is the only one that
demonstrates evidence of their

understanding of meaning in
context.

Mark for (b)(i) = 1 out of 1
Mark for (b)(ii) = 0 out of 1
Mark for (b)(iii) = 0 out of 1
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Example Candidate Response — middle, continued Examiner comments

(c) Use one example from the text below to explain how the writer suggests the father s expenences.
and feelings as he starts the sharp incline on the hill.

Use your own words in your explanatlon.

| can see my own contorted expression, looking out, gargoyle-like, over the bike handlebars,
fomung part of that ‘family entertalnment )

‘Dad, this is the forest, right?’
I nod and pant.
‘It'll soon be ten per cent gradient, Dad.’

| change my gear, and my legs heave a sigh of relief.

Habmmgrprmmosm\}mﬂmu%% ]mnoo,a.. Quh

. e The candidate does identif

an example from the text by

nzda OJDL 'N.Q M:pan) pmatm on...d fp& WJW% ........... opening quotation marks,
MM\QMMLWMUMMMM&@JW @ | although they forget to close them.
Their explanation shows some
understanding of how the writer
suggests the father’s experiences
and feelings that night, for example
through his facial expression
indicating the physical pain he
suffers and that the experience is
tough.

Mark for (c) = 2 out of 3
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Example Candidate Response — middle, continued Examiner comments

(d) Re-read paragraphs 2 and 12.

*  Paragraph 2 begins ‘Time for another ..." and is about the father trying to drink some water.
«  Paragraph 12 begins ‘The steep road ... and is about the father’s feelings about the road
ahead.

Explain how the writer uses language to convey meaning and to create effect in these
paragraphs. Choose three examples of words or phrases from each paragraph to support
your answer. Your choices should include the use of imagery.

Write about 200 to 300 words.

Up to 15 marks are available for the content of your answer.

e The candidate only focuses on
part of a choice (‘crackles’, rather
than ‘crackles as | squeeze it') so
they miss an opportunity to explain
accurately how and why the bottle
makes this noise by not selecting
the whole of the phrase. The nature
of the sound is not suggested here.

(@) The candidate offers a
straightforward meaning for this
word.

bm%mbfu\oiw optaﬁmd o fedbor..
o &Mo&&w&«m&&i‘oﬁwm ..... ... o .
Alammftw&/niowmmpmaldume © Thereis a faint suggestion of

R effect in the candidate’s discussion
\QWWPMM&WW,W%% of the wasted drop of water,

- .| although their individual choices

need to be more carefully identified

and explained.
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Example Candidate Response — middle, continued

e @@,udzm@mm@ w@r@u@

’\M,)jﬂolaum
_andher

- lmmu\ mw
Md/lmd @.. @

@

Example Candidate Responses — Paper 1

Examiner comments

@ The candidate offers some
basic understanding of the action
of the water as it ‘splatters’ that
indicates some grasp of meaning in
context.

@) The candidate’s explanation
of the literal meaning in context of
‘meanders lazily’ is clear.

@ ‘Assured to be’ covers the
meaning of ‘promised’ in context
and there is some suggestion of the
inevitability of what is ahead being
acknowledged as likely to be more
demanding.

@ The candidate provides a
relevant, if partial, choice.

@ The candidate provides some
understanding, evidenced that the
incline of the hill is challenging.
However, the language of the text is
repeated in the explanation which
dilutes evidence of understanding.

Overall, the candidate offers
some relevant choices in each half
and gives some secure meanings,
although their attempts to describe
the effects are basic.

Mark for (d) = 9 out of 15

Total mark awarded =
14 out of 25

How the candidate could have improved their answer

(a)(iv) The candidate could have offered just one carefully considered answer. This would have allowed them
to target the mark more successfully, ensuring the answer offered covered the whole meaning of the phrase
underlined and did not add extra incorrect words / selections or detract from the evidence of understanding.

(d) The candidate could have looked at the vocabulary around the word they were considering, to check whether
there were other connected words of interest. For example, if it was part of an image, this might have allowed them
to go beyond straightforward explanations of meaning. For example, selecting ‘gradient’ alone without ‘unforgiving’

meant they could not discuss how the image was working.
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Example Candidate Response — low

Read Text C, Moving on upwards, In the insert and then answer Questions 2(a)-2(d) on this
question paper.

Question 2

(a) Identify a word or phrase from the text which suggests the same 1dea as the words
underlined:

(i) Sonny’s phone Is sparkling in the sunshine

Seyeen. w‘?m\;‘\’m% Bnes 5 on '
(ii) The narrator expected his bike ride to be a new, exciting experience
Yo ride O’\D\’\?\\ ‘(‘ X \)j% %‘\’W\’e&h 9 1]
Retihday -

(iii) The narrator considers his fiftieth birthday to be a ficant stage In his life

covles\BNe. © -

(iv) Sonny plans to record the entire bicycle ride on his mobile phone

QO\D\EY‘QM wobhele event.o. .. o 11

(b) Using your own words, explain what the wnter means by each of the words underlined

Though |1 am keeping to the outside of the bend, | feel the tension in my thighs increasing in

a matter of metres Ahead lies the notorious forest where many a dismayed cyclist 1s forced
to dismount after kilometres of hard labour
o
(i) increasing \\\%h . l : Q\-' W\Q . ‘DQ-Q\( A e e s e .M

(ii) notorious.ﬂbtrcl)%t\o.(bo% (:‘dr eal . .
(iii) dismayed C\?%o\\()o\\?kg l &?%Qb\e"

Examiner comments

@ Whilst ‘winking’ is the key word
in the sentence, it is the screen of
Sonny’s phone which is catching
the sunlight so ‘screen’ is within the
permissible excess for the answer
and does not detract from evidence
of understanding.

Mark for (a)(i) = 1 out of 1

@ The candidate’s answer does
not suggest the same idea as 'new,
exciting experience’.

Mark for (a)(ii) = 0 out of 1

@) The candidate correctly selects
‘Milestone’ from the text as referring
to a ‘significant stage in [father’s]
life’.

Mark for (a)(iii) = 1 out of 1

o The candidate correctly
identifies a phrase from the text that
suggests Sonny plans to ‘record the
entire bicycle ride’.

Mark for (a)(iv) = 1 out of 1

@ ‘Increasing’ suggests the
tension is getting worse and has not
yet reached its peak.

Mark for (b)(i) = 0 out of 1

(© The candidate does not offer a
meaning of ‘notorious’.

Mark for (b)(ii) = 0 out of 1

@ The candidate attempts to
suggest other words with a similar
prefix, although they do not
demonstrate an understanding of
the word ‘dismayed'.

Mark for (b)(iii) = O out of 1
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Example Candidate Response — low, continued Examiner comments

(c) Use one example from the text below to explain how the writer suggests the father’s experiences
and feelings as he starts the sharp incline on the hill

Use your own words in your explanation.

I can see my own contorted expression, looking out, gargoyle-like, over the bike handlebars,
forming part of that ‘family entertainment’.

‘Dad, this is the forest, nght?’
I nod and pant
‘Il soon be ten per cent gradient, Dad ’

| change my gear, and my legs heave a sigh of relief.

chermae rag o % of relfels k. .
meons tnat ine. Dack inthts posseqe

% w0s on. Qreal. gpeed). becavse be . .
Laalea) Fa uiin the race. butk sahenhe
drange the gear, helforce. e ehsdag
.O\C\T?D omn nis.ANahs. %()t \”.Q.\C\XQC\.EQ\C .l
Eevo mMinules . Then 1P Hghs Thighs

o
Yoecorne ene\’gebfﬁ acEin Hecaus of 0O (©) The candidate demonstrates
e QQU\) rToLles of Yrelaxation » a basic awareness in this partial
explanation that ‘relief’ means a few
moments of relaxation for father's
thigh muscles.

Mark for (c) = 1 out of 3
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Example Candidate Response — low, continued

Examiner comments

(d) Re-read paragraphs 2 and 12

*  Paragraph 2 begins ‘Time for another . ’and is about the father trying to drink some water.

« Paragraph 12 begins ‘The steeproad ’and Is about the father's feelings about the road
ahead

Explain how the writer uses language to convey meaning and to create effect in these
paragraphs. Choose three examples of words or phrases from each paragraph to support
your answer. Your choices should include the use of imagery.

Write about 200 to 300 words.

Up to 15 marks are available for the content of your answer.

Paroqrapn2s ... A © J
o quip of. baaler drakingTn vaalér).....
e vortley meant hythis phrose.
e thak be wag Bite ik exhacsiec!
by s Bieyele. Tour ney. ancnowd he.
LIS, e Frging €O conswmne some. .
voaldy o gt g eneru =,
2. Sooee2e Tk (gron it Mgbtly ). .. @
The vartler Mmeant hy s thal ...
whenhe qrab. g hottle of wxlel
e, qrahed 1t.8o Wahtlgthe
e, bottle .
e o asdna forrgye.
3. Yok skveannne T e
The. wartlermeant G s, That
vohen He 8289 Yo dfink uwoaler
tre. guoalEy splaghed) oo Won
\dke a Wia slvean voag Mt @

oD s oot e.

@ Although the candidate’s
choices are partial or lack some
focus in both halves, they are
potentially relevant and their answer
suggests some understanding of a
literal meaning in the first half of the
answer. They explain the word ‘gulp’
in general terms as taking in water.

@ The candidate offers a basic
meaning of squeeze, although
they do not identify or consider the
rest of their choice ‘crackles’ and
they do not go beyond this partial
explanation.

m The candidate’s repetition

of the word ‘stream’ in this slight
explanation limits the evidence of
understanding offered.
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Example Candidate Response —

low, continued

Example Candidate Responses — Paper 1

Examiner comments

quo.\%tcmh \De L
le Ve %’te,e\b vooc) 2 Qf*ﬁ\m khQ\.C\<> @ .
The voier. eant ba hie™thalk
avAdeniyy ihe X0, yoocl.ua canme.
Ofﬁt&fﬁ'@ Boas Resioally .cé_o.\. ’V‘m’o
Moak Ao reod . areus Thal ang
CDUQ‘(Qd oSN Lrees. He can’t
\mo%me Yok g hﬁp@. of. VDQC)\
eve® exiate. T
25 Wy m e xhasel. Qome%f’ ho\— Kr) ®
The tortler meant. hu e k.
wanen. Ne  uoed ¥RA%n¢ ,,h?%,b\c&gc.\@
he. coole) fee\ the Hat bve_e5es .
b\@%;@mo\ (Coses 0B e ndegirile
teeke e Loag Cee\ing girdlalech
mc:@\ bmﬂ Y, andl . eoas, \aosmg
hope - ) .
3 » Ps Lo 08 Yoo enie. com cees .

The . toier. meant .\Dg _V.‘_\ NS \Lho\t
Loben. he: Loaas. Q.k.(\. ......... b the
yoorel he camn, .Q\.QQYL

See. k‘ﬁa\\: Vﬁe%\(o@)\\eﬁ\ 1=, keed 30
andd 3k \Rnelof 5%
\cﬁ Lor o vo keen. dﬂcmgmj
\_fﬁa.%aqrse o

............... . [15]

' @ [Total 25]

@ While ‘'steep’is part of a
relevant longer choice, the
candidate does not understand its
meaning.

@ The candidate provides just a
partial explanation of ‘warm exhaust
fumes’ as meaning ‘hot air’ in this
half of the answer.

@ The candidate offers a basic
suggestion of meaning in the first
half of their answer, although their
explanation in the second half of
the answer is thin. Overall, their
explanation is partially effective.

Mark for (d) = 5 out of 15

Total mark awarded =
9 out of 25

How the candidate could have improved their answer

¢ (b) The candidate could have tried out each of their potential synonyms in the place of the relevant underlined word
in the extract to check that their suggested meanings fitted logically and precisely in context.

¢ (d) The candidate needed to give more careful consideration of meaning in the second half of their answer which
could have helped them offer more a secure explanation and show evidence of understanding overall.
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Common mistakes candidates made in this question

(a) Some candidates added extra guesses and / or unnecessary words. Candidates needed to write just one word
or phrase that accurately and completely suggested the meaning of the word(s) underlined in the question to
ensure that their selections offered clear evidence of their understanding.

(d) Some candidates wrote one paragraph for each part. Whilst writing in sentences could help to develop ideas for
learners and encourage them to extend their explanations, there was no requirement to write in paragraphs and /
or link their comments for each choice in this question, because Question 2 is only assessed for Reading.

Some candidates only used words that they could confidently spell correctly. Candidates should remember that
Question 2 is not assessed for Writing, so this encourages them to work at the edges of their vocabulary and use
their own words in order to arrive at more precise suggestions of meaning or effect.
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Question 3

Example Candidate Response — high

Examiner comments

Re-read Text C, Moving on upwards, in the insert and then answer Question 3 on this question
paper.

Question 3

You are Sonny. ?our.fat@er and the rest of the family have watched-the-video you made torecord i
fiftieth-birthday-bicycle ride.” After the family have watched the video, you writé your journal entry in

which you:

» ¢_describe your father’s plans and preparations for his birthday and how you felt about them

** _ explain the hardships and challenges your father faced on the journey up the hill and your thoughts,
A as you watched him cycling’y )

«»  describe your father’s reactions as he watched-the finished birthday video of the wholé ride.;
- - c - 4

Write the words of the journal entry.

Base your journal entry on what you have read in Text C, but be careful to use your own words. Address
each of the three bullets.

Write about 250 to 350 words.

Up to 15 marks are available for the content of your answer and up to 10 marks for the quality

of your writing.
8RO DO e
e SN 0B Br0i80EE), L0100 MN0)... DO S

...................... Do 0GR 00Q. .. 0. 0OUCMA.... ALY AR ...
B AOENAZ,. B, 02 ... nvited).. NeRQ.. e @
foc. food .. u0n. 005,022 A, . CNERS., AT T ...
Rnew. 008, ANk, 10. 00, 20 g. moce. L. ek
NOMAING, Q.. SRR . CHERAND, . S, AKQC... L e,
T qpess e Unrsed | 0ANE.. H6. c0ckn. 010N, W3S
19,00, 306 51, oyl e fide. NORD 40, pove.bo. ©

T Qld0k eniz. 0. oA, bax. 1..adwace.. haan fov.

@ This short introduction is not
required. The answer could begin
straight away with ideas for any of
the three bullets. However, it may
have helped this candidate to think
their way into the situation and to
establish a suitable register / voice
for their response.

e The candidate’s reference

to inviting the family around for
cake and crisps is in line with the
suggestion in the text that this
might be the usual kind of birthday
celebration in this household.

e The candidate includes and
develops ideas for the first bullet in
this paragraph. The candidate takes
on Sonny’s perspective to describe
his initial reaction to Dad’s planned
adventure of the big cycle ride and
his desire to prove to everyone and
himself that he could do it.

o Sonny’s initial doubts about his
father’s capabilities are suggested
in the text, for example, in the
reference to his age.

e The candidate acknowledges
Sonny’s admiration for his father’s
efforts during the ride through a
relevant ‘thought’ in relation to
the second bullet of the task and
recognition that Sonny’s attitude
appears to change during the
experience.
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Example Candidate Response - high, continued

Examiner comments

: e oD |
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(@ The candidate offers further
development in Sonny’s reaction to
the plan for Rob to accompany Dad
on the ride, but to stay in his car.

@ The candidate has added to
this first section of the answer,
suggesting that they have taken
time after writing their response

to read back through and look for
opportunities to extend the range of
ideas and details they had included.

(@) This explanation of the
hardships Dad faced, includes
frequent integrated detail from

the text and covers the ideas that
although he was struggling with the
climb, having difficulty breathing and
needed to be fitter, Dad remained
determined.

() The candidate integrates details
from the text here and interprets
them from Sonny’s point of view.
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Example Candidate Response - high, continued

Example Candidate Responses — Paper 1

Examiner comments
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@ Sonny’s concern that his

father might need medical help is
suggested in his reaction to the
change in Dad’s breathing and
details from the text are woven into
the answer: Dad’s need to stop
(take a rest) and Sonny’s final words
in the passage encouraging his
father on.

m The candidate uses a range of
ideas which are rooted in the detail
and suggestions of the text have
been used and developed in this
final section of the answer dealing
with bullet three of the task. Dad’s
amusement and self deprecating
humour, which is evident in the
passage, is initially established here.
The candidate takes the opportunity
to develop and detail the reactions
to each of the stages of the race as
Dad looks back via the video. They
pick up on his likely disappointment
and regret, based on one valid
interpretation of the hints in the text
that he might not have finally made
it to the top.

The candidate’s answer
includes a good range of ideas
over all three bullets with frequent,
integrated details and well-sustained
development of ideas from Sonny’s
perspective. They use a consistent
and convincing voice throughout
and a fairly effective register.
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Example Candidate Responses — Paper 1

Example Candidate Response — high, continued

Examiner comments
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@ The candidate’s plan to record
the cycle on video is usefully
added here, along with the
reference to the soundtrack (music)
Sonny planned to add, extending
the coverage of ideas in relation to
the first bullet of the question.
Reading Level 5

Writing Level 5

Total mark awarded =
23 out of 25

How the candidate could have improved their answer

The candidate could have further widened the range of their ideas in relation to the first bullet using material from
later in the text. They could have used ideas from anywhere in the text and these ideas could have been included
anywhere in their answer, which might have helped them find extra opportunities for additional points or detail when

planning or editing.
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Example Candidate Responses — Paper 1

Example Candidate Response — middle Examiner comments

Re-read Text C, Moving on upwards, in the insert and then answer Question 3 on this question
paper

Question 3

You are Sonny Your father and the rest of the family have watched the video you made to record his
fitheth birthday bicycle nde After the family have watched the video, you write your journal entry in
which you

L
e describe your fgthgﬁs,gla\&égggpreparatlons for his birthday and how.you felt about them

¢ explain the hardships and challendes your father faced on the journey up the hill and yourmguglﬁ
as you watched him cycling

¢ describe yourfather s he watched the finished birthday video of the whole ride

Write the words of the journal entry.

Base your journal entry on what you have read in Text C, but be careful to use your own words. Address
each of the three bullets

Up to 15 marks are available for the content of your answer and up to 10 marks for the quality
of your writing.

Wirite about 250 to 350 words

—
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0 The candidate underlines details
of the task in the question and ticks
some of them off, suggesting that
they intended to use the bullets as a
checklist for their ideas.

e The candidate does not pick up
on hints about Sonny’s voice from
the passage, so does not manage
to create a convincing voice for their
answer, for example, Sonny calls his
father ‘Dad’ in the text.

e This needs more careful support
to be in line with suggestions in the
text and to show evidence of close
reading.

o Some of the preparations for the
challenge are listed here: preparing
the bike, the arrangement for Rob
to go with them and for Sonny to
record a video of the ride. However,
they need to develop their ideas
since their answer does not deal
with ‘how [Sonny] felt about’ these
preparations. This part of the task
is not ticked off by the candidate in
their checklist, indicating that some
of the guidance in the first bullet
may have been forgotten.

e The candidate misses further
opportunities to support and
develop basic ideas to evidence
close reading. For example, they
could include the detail that Rob
was Dad'’s friend and / or offered
development, such as how Sonny
felt about the plan for Rob to drive
alongside.

@ The candidate’s ideas here
are relevant, but presented
factually, rather than interpreted
and developed through Sonny’s
reactions and comments.

0 A detail of the challenging
terrain is touched on here: the steep
trail.
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Example Candidate Responses — Paper 1

Example Candidate Response — middle, continued Examiner comments

Mg ok ke sEIUL L‘Od W L takes do ke 0 The candidate refers to the
physical nature of the challenge

. : through the effect on his father’s leg
Herms.. of e pmn curvik "0‘104’.. Tle steep | muscles and his exhaustion.
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Ol P2l e Ao L S &7"%'?' fo is offered as a development here.

be. 5o dougn at  such o exge. Ao Fathe- .
T ' @ The candidate adds further

a G _...“J*V‘j ..... Lo Felt  like. he ,’(VQS...gQ(..P\ﬁ details of the physical nature of the
to kL te. e growel and it | ol challenge and they repeat Sonny’s
S22y s effrd. . MP@...SW%"‘.’{T...COM}Q?. eut '@ | concem.
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' Wl\u\ MW.Q/. . NML ' Wou,d\w\ - #‘ﬂ\e Vm/zo ' 01'5“ answer, the candidate uses some
WNhew w2 4 bt he  bdeo of . . details from the text to suggest

e rdole. nd‘-zf~~-M‘-Qp‘- 1 }‘wﬁ ool some relevant reactions for father
Satber pvas  prowd 0¥ umseld, He e as he watches the video later. For

PVDL»LOQ— Qr]%dﬁ _ cgwm,\ M W N example, a feeling of pride in his

achievement at making it up at least
part of the steep hill.

This reference to ‘great speed’
: 12
*)’ﬁ\lL ﬁr@M S‘oé,.éce_ . L‘l« o hWaAS ’V"‘/V“ﬂ .o @ . suggests a misreading of ‘pedal

HQ,_ ,(_Qq Mo{/ ,oL.w'grw ‘_—}’N/ g wAgy\ madly’ where his father is working
he ool shﬂo@t H ac&m(@dyi Hot ® hard to try to get up the hill but is
............ Hefpece 0L adkn 2o T .. e aking Slow Bronress

&ja._..&o&q@. coukght up betbe b He ves ® I SOWPIeS

The father does say that

secdd  and  ancouraged b Ivhat

pleased o o[ﬂ ................ he. .. he needs to stop and this is
CW/LJ—S‘LI 20 ot SMCLL e O‘jﬁ ..... . a reasonable interpretation.

Fatber  buns ...‘%p/pj _____ and. . 102 all opjeyocl | Explanation of why he might laugh

wodchng L HL !Mas#if(uﬁl A“"/( ma ol @ [25] at .this could be used to.offerfurt.her
evidence of understanding (picking

up on the father’s attitude towards
his own performance in the text).

@ The candidate provides a
reasonable range of ideas over all
bullets of the task. They could
develop and support their answer
further. Their style is clear although
factual and plain, with little sense of
a convincing voice for Sonny.
Reading Level 3

Writing Level 3

Total mark awarded = 15 out of 25

How the candidate could have improved their answer

* To demonstrate closer reading of the text, the candidate could have used further details from the text to support
their ideas.

* Taking opportunities to evaluate events from Sonny’s perspective and extend his reactions to the whole experience
would have allowed this candidate to develop ideas and be awarded marks in the higher levels.
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Example Candidate Response — low

Re-read Text C, Moving on upwards, in the insert and then answer Question 3 on this question
paper

Question 3

You are Sonny. Your father and the rest of the family have watched the video you made to record his
fiftieth birthday bicycle ride After the family have watched the video, you write your journal entry in
which you

« describe your father’s plans and preparations for his birthday and how you felt about them

+  explain the hardships and challenges your father faced on the journey up the hill and your thoughts
as you watched him cycling

+  describe your father’s reactions as he watched the finished birthday video of the whole ride
Write the words of the journal entry.

Base your journal entry on what you have read in Text C, but be careful to use your own words. Address
each of the three bullets.

Write about 250 to 350 words

Up to 15 marks are available for the content of your answer and up to 10 marks for the quality
of your writing.
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Example Candidate Responses — Paper 1

Examiner comments

a The candidate lifts content from
the introduction to the passage in
the opening of their answer. This
offers only very limited evidence that
the candidate has read closely and

/ or understands the nature of the
challenge the father undertook.

e The candidate makes a brief
reference to the plan that his father’s
friend joined them on the day.

e The candidate’s reference to
Sonny recording the video relies
heavily on the language of the text,
which suggests that they do not
understand the point securely.

o The candidate misreads the
detail here. It is Sonny, not Rob,
who makes the birthday video.

36



Example Candidate Responses — Paper 1

Example Candidate Response —

low, continued

Examiner comments
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e The candidate misreads the
information here in relation to
Sonny’s comment about his father’s
outfit.

@ The candidate’s reference to the
physical strain faced by his father is
touched on briefly through this detail
of his thigh muscles being under
pressure.

a Weaknesses of expression

in the answer affect meaning and
further reliance on lifting from the
passage results in some awkward
expression.

@ The candidate makes a brief
reference to the difficult terrain
through the detail of the gradient
change.

@) The candidate's comment
suggests that they have misread
here, because there is no race.

37




— low, continued

Example Candidate Response

Example Candidate Responses — Paper 1

Examiner comments
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@ There is further misreading of
detail suggested here. It is the warm
exhaust fumes from the car that his
father is breathing in, not a warm
breeze.

The candidate makes a brief
reference to the bike as they track
through the text.

@ The reference to his father
seeing Sonny crying is outside
of the text and / or may be a

misreading of ‘Sonny’s face drops’.

Qee. My LUt
deova Laexe c,o ﬁ ok He. \mag
%DT\\ \DQCQC%CL ‘ﬂe can.k.mm@ _________
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Example Candidate Responses — Paper 1

Example Candidate Response — low, continued Examiner comments
ool 2 ) ko make e proock. ko e, ... | @ The candidate suggests the
e <00 father’s disappointment at not
B A I achieving his goal, but they misread
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Xy, ox E—Qe_\_ c p‘;\’\% \ amnn &)'\fgpg& ) answer, although there is some
ne. %OD\’ Qo). > \/DU d\cl'a\ ¢ Ck\\:j e L\ @ evidence of misreading to balance.

"""""" The candidate shows some general
RO, .%DDY. Ckaa.o understanding of the text, but their

expression is often awkward
throughout their answer.
Reading Level 2

Writing Level 2

Total mark awarded =
8 out of 25

How the candidate could have improved their answer

¢ The candidate could have re-read the text to identify ideas for each bullet beforehand to help them secure their
understanding of key details ahead of writing their answer and avoid some of the misreading that was evident in
their response.

* The candidate’s answer went beyond the suggested length. They could have planned to write a shorter, more
focused journal entry which could have allowed them to factor in time to check their answer and be awarded higher
marks for both Reading and Writing.

Common mistakes candidates made in this question

* Some candidates limited the order of ideas in their answers to follow that of the bullets. Whilst the bullets were
there to help ensure coverage of relevant ideas from the text and encourage development, candidates could have
followed the order of them and / or included relevant ideas and details for any of the bullets at any point in their
response.

* Some candidates did not plan their ideas beforehand and / or did not return to the text to check details they were
unsure of, so missed opportunities to locate further useful details and implicit ideas they may have missed on first
reading.

* Some candidates did not adopt the perspective of the persona identified in the task. Thinking their way into the role
or viewpoint could have helped candidates to develop their answer in a relevant way and to use an appropriate
register and voice, so they could be awarded marks for both Reading and Writing.
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